Version: 98

T(va) = -4vq + 4v; and T(v2) = -1vq + 3v;

(2, =3
v = | - | (red) and v2=|‘. I |

2

T(va) = =-1vqg + =3vy and T(vz) = 2vq + 2v3
-3
X = l-l |
(=2Y. . =LY
v, = | $ | (red) and v2=l _2 |

T(ve) = 1vy =+ =4v; and T(vz3) = -1vq + 1vy

-3\

X = l_4"|

(-1 1y
v, = | h | (red) and v2=|\ = |

6 |
X = |-8 j

(1) (-4
v = |‘.3 | (red) and v2=|\ g l[greenj
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Version: 318

T(ve) = -3vq = -1v; and T(vz) = 2vq = 1v;

4y —
vy = |‘.2 | (red) and v2=|‘- A ILgreen‘

T(va) = 1vg = -2v; and T(v3) = 3v; = 2v;

x= |5

(3], (1,
vy = |‘.1V|Lredj and v2=l\ ot |

T(vq) = 4vy = -2v; and T(vz) = 3vq = -1v;

= |
1

[ =20 (-1
Vi = | i | (red) and v2=|l. =

Version: 576

T(vi) = -2v3 = 1v; and T(vy) = -1v; = -2v;

| (1
. (red) and vz=| - |
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Version: 583

T(ve) = -3vq =+ 2v; and T(vz2) = -4vy + 4v;

f =1 /

T(va) = 1vg + =2v; and T(vz) = -1vq + 1vy

-10
X = ' - ]
/3 ‘a4
vy = l3 (red) and v2=|‘ _; | green)

T(ve) = -2vq4 + 4v; and T(vz2) = -2vq + 2v3

21 ,
vq = (_3 (red) and v2=| . | (green)

T(ve) = 4vy = 3vz and T(v2) = 1vq + 1v;

-6\
X = - _,I
el .3
Vi = [ 5 | (red) and vz=| 4 | (green)
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Version: 844

(-1, (3
vy = | g | (red) and vz=['4 | (green)

T(va) = -4vq + -2v; and T(vz) = -3vy + -2v;

(-1, (=3,
vq = | a | (red) and v2=[. - l;green:

T(vi) = -2vy =+ -2v3 and T(vy) = -4vq = -3v;

5 \
X=|g |
2 1
v, = |_1 (red) and v;=| _3 | (green)

T(vq) = -1vq + -1vy and T(v2) = 4vy + 1v;

-1
x = |_s0
1y -2\
v = [.2 l (red) and v2=|‘. i |;greenj
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Version: 1185

T(va) = 3wy = -1v; and T(v3) = 4v; = -2v;

-4
x=|_s)

/ _2 \ ; p -1
vy, = l 1 I (red) and v2=|\ i

T(va) = 1vg + -1v; and T(vz) = -3v3 =+ 2v;

-1 \

x=|_3)

/ _2. ) 2 3 '
vy = | 4 | (red) and v2=l. - |

T(va) = -1v; + -4vz and T(vz) = 1vy + 4v;

N

5 .
v, ];red; and v,=|\ ) | tgreen

T(va) = 1vy + -4v; and T(vz2) = -2vy + 3v2

-8
x= |, "|
(-1 din
Vi = l , |(red) and v2=|k 4 |Lgreen)
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Version: 1626

4 \
X = |_1 /I
(3 (1,
vy = |.,1 l (red) and vz=|k i | (green)

-4\
X = | -3 ,.l
-1y, (1
v = | = | (red) and vz=|‘ a | (green)

T(ve) = 2vq4 + 2v; and T(v2) = 1vy + 2v;

-2

X = (-7"|

(1), (1,
vy = | " | (red) and v2=|l. 5 | (green)

T(vq) = =1vq + =-2v3 and T(vz) = 2vq + 4v;

<Py
- l1e,,|

el (-4
vy = | 3 I (red) and vz=|» 5
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Version: 2011

T(ve) = 2v3 = =3v; and T(vz) = 1v; =+ -2v;
14

X = | . |
F=1y ) -1

vy = | 3 | (red) and v2=|. g | (green

T(vy) = -4vy + -3v; and T(vz) = -1vq = -2v,

-10
ool Y
(-1 (31
o - | g | {red) and V2=|. -3 | (green)

T(ve) = 1vg = 1v; and T(v3) = -1vq + 1v;
2 l
X = [
6
v ) 4y )
(red) and v2=| |;green,

{ 2
Vi, = |.—1. "

(-1, (=2,
vy = | i vl;red) and v2=l_2|v
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Version: 2168

T(ve) = 2vq = 1v; and T(v3) = -4vy + =-3v3

-4\
x= |3 )
f 4 ). {3
vi = | 5 | (red) and v2=| 3 | (green)

T(vy) = 3vy = 2v; and T(vz) = -2v; + -2v3

-5 \
X = | s |
1 (-4
vq = |_3 | (red) and v2=|' 5 |{greenj

N

T(vi) = =2v4 = 2v; and T(v3) = 3v; + -2v;
[~
X = IS |

3
u =3

(-3
(red) and v;=| 5 | (green)
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Version: 2609

T(va) = -1vy = -4v; and T(vz) = 1vq = 3v;
1\
X = l_7ll
F1 5 o
vi= | & | (red) and vp=| _

T(vi) = 2v4 = 4v; and T(v3) = -1v; + -1v;

9
X = |5|

T(vi) = 2v3 = 3v; and T(va) = -3v; + -4v;
-4\
X = l a J

P2y
|_1 (red) and v,=|

2
-1

T(ve) = 2vq4 + -2v; and T(v2) = 4v; + 2vy
[ B
X = |5 |

11 ‘1
vy = |.'4 | (red) and v2=| & | (green)
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Version: 2735

T(va) = 1vg = 1v; and T(va) = -2vq = -1v;
=3 3
X = |_3 |
f =1 ) i
vi = | " | (red) and vp=| _

T(va) = 3vg + -3v; and T(vy) = -1vg + 2v;

-5
X = l_s,l

/ _1- -1 )
v; = | " | (red) and v2=[_3 K

T(ve) = 2vq4 + -1v; and T(v2) = -2v4 + 1v;

-108
X = l i
-1y 4
Vi = | _, | (red) and v2=|. _p | (green)

T(va) = -2v4 = 2v; and T(vz) = 1vg = -1v;
-8
X |-6,,|
7 _3- ) i
v = | 1 |Lredj and v2=| ]
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Version: 2805

T(ve) = 4vqy =+ 4v; and T(va) = 2vq + 3V

-1
*= |10
(3, (1)
vi= |, | (red) and v2=|‘ 5 | (green)
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